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The Year 5 Learning pack

Advice and sugqgestions — below are a slightly random list of helps and hints for how to help your child with their

learning at home, it is only advice and suggestions and it is aimed to help:

At school learning is a social activity as well as just getting on individually so “get on with what you've got to do”
won’t work — children will become demotivated very quickly. Talk through regularly with your child what they
are doing / learning. More than 10 minutes of individual, silent learning is hard to sustain for children unless
they are really into it. So make it a fun family activity.

Hear your child read, even if they are very good at reading already

Have an agreed routine and timetable for your day that your child and you can refer to (at school we have
written up what we will do / be learning and when). This will help your child not to be anxious, know what to
expect is coming up in the day and also help you know what's going on for the day. It might just be a list of times
and what learning you/they will be doing at that time.

We are suggesting that you spend 20 minutes on mathematics, 20 minutes writing (see later on for suggestions
about this), 20 minutes reading and then 20 minutes other subjects. This timetable below has been found online
— you might find it helpful but you might not, it is just an example & the eagle eyed will notice it contains more
academic time than suggested above!

Hear your child read to you

Screen time (gaming or watching stuff) is hard to break off from because of the different brain chemicals it
causes to be released — so save it until after more formal paper based learning has been done

Have a family story that you are reading together and perhaps at the end of a mealtime or on the run up to
bedtime you read some together which all the children are enjoying

Praise the learning behaviours you want to see, e.g. “I love how you have persevered at your handwriting today”
or “I am so impressed that you have tidied up your junk modelling so well today”

Read your child’s book to them for a bit

Chat about new and unusual words in your child’s book and write them in their reading record

Read together —a page each

Be outdoors where and when you can

Read something unusual like a seed packet or some cooking instructions / recipe together

Low mood = food, we see a real dip in attention and interest in learning from 10.30am and just before lunch and
towards the end of the day because often low mood = need food. Healthy snacks can quickly change the mood.



Other Suggestions from some children in year 5 and some from their teachers

Write a diary each day — 3 to 5 sentences where you capture a best moment, a funny moment and something
that you discovered new or surprising

Junk Modelling — some have suggested turning cereal boxes inside out first so that you can then decorate them!
Science experiments - https://www.stem.org.uk/resources and then click “primary” has some lovely
experiments you could do, it is a website for teachers and the language is for grown-ups so we suggest you look
ahead of time and decide what to do

Another useful website is https://www.bbc.co.uk/teach/primary/zd7p47h or search “bbc teach primary” which
has some fun short videos in subject areas as well as other resources that you might like to look at

Create and play a board game

Art topic — create a collage

Use Mathletics - see front covers for log on details

Use Education city — see front cover for log on details

Do some exercise! Joe Wicks on youtube does a 5 minute work out for children —search “Joe Wicks 5 minute

move”

Create a garden sculpture

Create a poster about anything you like, perhaps about your favourite thing to do

Write a letter to a relative, photograph it and email it through to prevent the spread of germs

Create a photo montage of picture you make then share it with a loved one you can’t visit at present, perhaps
turn a few pictures you draw into an animation

Have a daily checklist of what you need to do and tick them off each day

Do some cooking or baking together and use the experience to inspire you to write a short story or perhaps a
recipe

Draw a symmetrical pattern using a ruler and then add colour

Create a comic strip

Have some time sat quietly and calmly listening to the sounds around you

Write a book review —what would people want to know or need to know to be persuaded to read that book
Write a film review - what would people want to know or need to know to be persuaded to watch the film
Make a time capsule (search online for more information)

PACKS — We have created these packs, there is a Maths pack with addition, subtraction, multiplication and division
as well as looking at data and finally, telling the time. There is also a general pack that includes answers to all we
have set where answers are required.

Best wishes,

The Year 5 team
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2(3(4(5|6]|7 110N |2

2 3 6| 810(12(14|16 |18 [20(22|24
3| 6 KM 12(15|18|21|24|27|30|33|36
4 | 8 [12 {l320|24|28|32|36|40 |44 48

5 (10|15 |20 1} 30(35|40|45|50|55|60

6 [12(18 24|30 kY42 |48|54|60|66|72

7 |14)|21|28|35|42 %156|63|70|77 |84

8 |16|24(32(40|48|56 [1472|80|88|96

9 |18(27(36|45|54|63|72 K1l 90|99 10

o] 1020|30|40|50/60|70|80(90 |LL]11012

70
N |22(33|44|55|66(77|88|99 MOjr44132
84

2 12 124136|48|60/72|84|96(108{120{132 %
R Il ]!
Subtract / -
and difference betvieen | multiplied by share oqually
increase toke away groups of divide by .
sSUM minus fimes group
'%‘;‘ 1;’;}3;0 product share D
ﬁ)geﬂ't@r decrease lots of divide into .
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Colour by Multiplication

Do the multiplication calculation and colour the shape in the correct colour.

0-10 1-20 21-30 41-50 51-60 61-70
light blue purple pink yellow green orange dark blue
- &

3x3 5x5 6x8 /
1x4
8x7 6x9
-~ / 2x7 3x3
4x3 2x6

\ s 6x 6 10 x 2
7x78 8x8
q l 5x8
5x6 & p\

Lxb Lx8

\
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Pleture Pyuzzle
2 X tzble

Solve the puzzie picture opposite by colouring
just those numbers which divide by 2.
What can you see?
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Multiples of three

b
1y
2. | 25 |26 |27 | 28 | 29 | 30
3|35 |36|37 |38 |39 | L0
LU 2 |63 | W | kS | 46 | W7 |48 | L9 | 50
! 5475 60
' k| 65 8 |69 |70
1 e |7 80
81 |82 |83 (8, |85 |86 |87 |88 89|90

9¢ |92 | 935 | 9. | 95 | 96 | 97 | 98 | 99 | 100

Three times table
X pes
X -
X
x
X
X
X
X
X
0 X =
1 X =
2 X
Compi table.

Make a pattern by colouring all the numbers
which are multiples of 3.

Pleture Puzzle







Four times table

t X 4 =
2 X 4 =
3 X

W X

v
X

F F ¥ ¥
('

~
x
¥
(1

i
9 X 4 =
10X |
x4y =

12X i = .

Complete this table.

Multiples of four

Plezure Puzzle

i+ X table

t a3 |l w5 |e|7z |8 |9 |0
13 12 3 0l 15 1 17 I8 19 20
2y |2z § 23 | 26| 25| 26|27 |28 29| 30
31 |32 |33 |34|35]|36|37 |38 |39 |,0
b L2 |63 | Wi | LS| W6 | L7 | L8 | L9 | 50
51 |52 [ 53 | 54|55 |56 |57 |58 |59 |60
6l |62 |63 |6k |65 ]| 66|67 |68 |69 |70
n |7z |73 .Qr 75 |76 |77 | 78 |79 | 80O
8% [ 8283 | 84|85 |86 |87 |88 |89 |90
9U |92 |93 | 9. |95 | 96 | 97 | 98 | 99 |00

Make a pattern by cotouring all the numbers

which are multiples of 4.

a

Solve the puzzle picture opposite by colouring

just those numbers which divide by 4.

What can you see?
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_________________

"
By 1
2L 2
Ik 3
b | kS | 6 | W7 8 |L9 |50
Six - 56 59
6l 6 69
.Nr. 79
8. 89
9 99
ern b ers
hich

Pjeture Puzz/e

7 X table
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Pleture Puzz/e
< X table







Nine times table

W ¥ W N

7 X 9 2

8 X 9 C

10X 9 =

tt X 9 =

v l2]3|w]|s]|e|7|8]|92]w0
i |12 ] 13 |y |5 | V6 | 17 | I8 | 19 | 2O
av | 22| 23| 2y |25 | 2027|2829 |30
31 (32|33 | 34|35|36|37 |38 |39 |40
W w2 [ 63 | v | WS | 46| W7 | 48 |49 |50
50 |52 ]| 53| 54|55 ]|56 |57 |58 ]|59] 60
6t |62 |65 |64 | 65| 66 | 67 | 68 | 69 | 70
|7z |75 |74 |75 |76 |77 | 78 | 79 | 80
81 |[82]| 83| 84.|85 | 86|87 |88 | 89|90
9ot |92 ] 95| o |95 | 96 | 97 | 98 |99 |r00

Complete this table.

5
&

Make a pattern by colouring all the numbers

G

Solve the puzzle picture opposite by colouring

N
AV <)

=iy

just those numbers which divide by 9.

What can you see?

which are multiples of 9.

Pleture Puzz/e
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Ten times table MUIIpIES O1 ten

— Q i
X0 = Tzl3lelslel7]eo]we @@%@@ m@%@%@
& BHIOI 1= 2|13 |y |15 | 16|17 |58 | 19 | 20
a2 i = _ 10X bk
21 22| 23|2e|25| 20|27 |28 |29 |30
L X10 = .
31 |32 | 33 [ *
5 X110 = 3|35 |3 37 |38 |39 | LO
6 X1 = GE [ W2 | k3 | v | WS |46 | 47 | 4B | 49 | 50
7 X0 = 51 |52 | 33 | 34| 55 | 56 | 57 | 58 | 59 | 60
8 X0 =
6l |62 | 63 | 6 | 65 | 66 | 67 | 68 | 69 | 7O
9 XMW = -
7L |72 | 73 | 7% |25 |76 | T7 | 78 | 79 | 8O
1ox 10 =
81 |82 |83 | 8, |85 |86 | 87 | 88 | 89 | 90
1P x 10 =
12X 10 = 9t |92 | 93 | 9. | 95 | 96 | 97 | 98 | 99 |00
Complete this table. Make a pattern by colouring all the numbers
which are multiples of 10.

Solve the puzzie picture opposite by colouring
just those numbers which divide by 10.
What can you see?
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Eleven times tabie

MUITIpIES O] elever

Pleture Puzzle

1 X Table.

VXt = 1 213 k| 5 6 |7 8 9 | 10
2 X1 =

|1z |3 | |15 | 16|17 |58 | 19 | 20
3 Xt =

2t |2z | 23| 2|25 | 20|27 | 28 | 29 | 30
WX o= - ;

31 | 32 | 33 36
o B i 2 I | 35 37 |38 |39 | LO
6 X1t = Lf [ W2 | &3 | Wi | WS | 46 | 47 | LB | 49 | 50
7 XHu 51 [32 | 33 | 54 | 55 | 56 | 57 | 58 | 59 | 60
8 = = 6t |62 |63 |64 | 65| 66 |67 |68 |69 |70
2 X118 = -

V|72 | 753 |74 |75 |76 |77 | 78 | 79 | 8O
woX 1 =

81 | 82|83 | 84|85 | 86|87 |88 |89 |90
1nxanz
12X 1t = 9t |92 | 93 | 94 |95 | 96 | 97 | 98 | 99 |00
Complete this table. Make a pattern by colouring all the numbers

which are muttiples of 11.

Solve the puzzle picture opposite by colouring

just those numbers which divide by 11.

What can you see?
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Twelve times table

2

8

9

x 12
xX 12
X 12
X 12
X 12
X 12
X 12
X 12

X 12

10 X 12

Muluples ol weive

Plcture Puzz/le

()

()

()

1 X Table

()

1" x 12 -

12 X 12

1 |l2]|3|wls5s|e}l7z|s8|9 |0
|z 3 |gfis |16 |17z |8 |19 | 20
2v |22 | 23|24 |25 | 2027 |28 |29 |30
3t |32 |35 |34|35]|36]|37 |38 |39 |0
b |2 | b3 | We | LS | b6 | L7 | LB | 49 | 50
50 |52 | 53 | 5,.{35 |56 |57 |58 |59 |60
61 |62 |65 | 64 | 65| 66 | 67 |68 | 69 |70

nlze |75 |70 |75 |76 |77 |78 |79 | 80

81 |82 |83 [ 8, |85 |86 |87 |88 |89 |90

ot [92 |95 | 9. |95 |96 |97 |98 |99 |00

Complete this table.

Make a pattern by colouring all the numbers

which are multiples of 12.

Solve the puzzie picture oppoasite by colouring
" just those numbers whichndivide by 12.
What can you see?

73 &) 7 52 B 25 82 75 13
! = ’ 7 13
135. 53 25 4 3 - 102 P
6 28 53
=1 30 63 | _ i &6 21
wo ik -
8 71 25 I \|5
25 52 ) & 3 17| 22 Sz
i 26 62 : 61
71 5 L5 . N o 2 ) 3 7
26 W 124 5 . AV W
32 o 8 76
9 8 ; 2 4 | 2
L) 36 12 16 -1 70 7 2 -
26 I3 36
2 \i2( &0 T2 g2 | e0NJZ\ 8y 24 /S
2u( us Y2 26
120 a6 T2 2
2 66
5 : Wl 60 .
7 | LB Bt 132 36 Le 96
&2 e ly 72 62 \%
1 30 us JeL 3L &3 7
1m zf 132
82 D Ny 82 3
U e AP 26 2 2 \ 2NN 15
L 2| s2\®
' 7
s 2z (% 56 92 W = L2
2 8
Wb
7 92 13
120 71 B 3 = 25 o6
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Addition mental strategies — doubles and near doubles Addition mental strategies — doubles and near doubles

2
Complete each near double diagram. Start with the double | start by looking at the
D ! ; ° tart by g
otblestiactiicituchamelombRigdicaitosethen in the centre and work clockwise. You will need to think in ”QN_,HCBWN:. e
= R d ] d or 21 + 18, think double
3 + 3 = 6 is the same as saying double 3 is 6. doubles and then adjust. i il adil 'y sl
Near doubles is when you use the doubles fact and then adjust either by adding 20 + 22 = 250 the answer is 39.
or subtracting.
See: 6 + 7
Think: double 6 + 1 o 20 + 18 =
N1
a [21 + 19 = —20 + 21 =
° Circle all the ‘01 23
mo:v._mm facts. M olil2]3 20 + 19 = 20 + 17 =
The first two are =
circled for you. i 1 2) 3[4 21+ 22 =
Next, shade allthe Bl 5 | 3 @ 5 Start by looking at the
doubles facts +1, . w. FGEIE firstinumber.

For 51 + 48, think double
then the double B 50 + 49 = 50 add 1 and then subtract
facts —1: tM 4 |5|6 |7 2 so the answer is 99.

kBl 51678 53 + 49 = 50 + 47 =
N 6|7 (8|9
8l 7 | 5|9 |10[11|12]13|14]15|16 bi l[pL* 4% g R
8 8 | 9 |10]11[12[13|14]15]16[17 59 + 49 = 51 + 49 =
8 9 |10]11|12|13|14|15|16(17|18 :
a doublel= b doublel+1= ¢ doublel-1-=
double 2 = double2+1= double 2-1= 0 Show how you would explain to someone how to add each of these using
near doubles.
double 3 = double3+1= double3-1=
— a 30 + 32
— —
double 4 = double 4 +1= _ double 4 -1 =/ |
double 5 = double 5 +1 = double 5 -1 =|
(EE | |- L1
— — = b 25 + 23
double 6 = double6+1= | double 6-1=| _
-l ———— —|-
double 7= double 7 + 1= double7=1=| |
[ ] c¢ 100 + 97
double 8 =| double 8 +1= _ double 8—-1=|
double 9 = double 9 +1 = _ double 9—1= 7

Addition and Subtraction @ \ej,ﬂ m 3 n _
\ 1\ /e
— N |

Copyrig

Addition and Subraction

Copyrngin kL& TH I

Lrorring

KFRIFS TORPIC
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Addition mental strategies — jump strategy Addition mental strategies — jump strategy

~ . .

When we add, we can use the jump strategy to help us. Look at 57 + 22: J o m.m_o<< are some number lines that only show ».:m jumps. Complete the number

line for the problem that matches and then write the complete problem.
1 First we jump up by the tens.
e [187 + 54 | [179 + 62 | [ 78 + 53
2 Then we jump up by the ones.
+10 +10 +2 . N & el NN N N NIV
57 + 22 =179 b + =

. /

° Practise jumping in tens along the arrows:

PO > S

a | 12 J

hl 32 v v v O use the Cupcakesales ]
jump Day Red velvet |Lemondrop| Coconut Chocolate

c | 123 strategy to Saturday 165 82 55 135
add these: g, 4ay 43 98 65 36

a How many red velvet cupcakes were sold over the weekend?
@ Use the jump strategy to add these:

+Hoi +10 +10 +10 Tpo v +2 7 + = < -
| ~ AN
a 78 +52 = - : -
78 T _ : b How many lemon drop and coconut cupcakes were sold on Saturday?
b 115+ 44=|  |= T Tii.T ¥

¢ 185 + 63 = _ -
| +
7 8 _“ _@ ﬂe Addition and Subtracdcicn

Addition and Subtraction

Liarning
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Addition mental strategies — applying the split strategy Addition mental strategies — compensation strategy

° Complete these addition wheels with the split strategy: ( ] ) . i )
Sometimes we round one number in the problem to make it easier to do in

our heads. Then we adjust our answer to compensate:

23 + 19 42

55 78
23 + 20¢{-1} I rounded up by 1,
a 212 + 128 +
43-1; 42 solsubtract 1.
52 27 L s \.

o Practise rounding:

\ a | 148 |— b3 |—| | c|a|—] |
The split strategy is useful when adding three 2-digit numbers. .
Try adding tens, then the ones and recording it this way: d | 109 5 e | 96 ; _ § | 199 , i
61 + 43 + 44 = 14 tens + 8ones = 140 + 8 = 148
° Record these place value amounts: ° Use the compensation method with these 1qou_m3m. Round the second number up
to the closest ten. Compensate by subtracting.
a 8tens = b 17tens = ¢ 15tens = . )
a 32+ 28 = 7 b 55+ 38 = 7
d 5ones = e 12tens = f 16 ones = N FEg
32+ 30 i 55+ 40 {
o At circus school, a competition was held to see who could stay on a unicycle the —_— FF — k4T 7
longest. The time was recorded in seconds. Using the split strategy, add up each
person’s time. The first one has been done for you.
Time in Total in f——
. seconds | il | seconds ¢ 66+ 19 = d 22+ 39 = 7 -
a |Lizzie 22,14, 3 3 ﬁ.@s\% + 9 ones 39 - ) .,\_

b | Dan 23,4,11

c | Lily 21, 6, 14

d|Jo 20, 8,12 The winner is:

e |Julio 4,22,12

== G I..r/. g P e N .
11 12 _@ _é,_ Addition and Subtractio
S S ..\___ 34 7
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Subtraction mental strategies — subtraction strategy review

/
ﬁ Look for patterns: 6 — 2 =4 so 60 — 20 = 40 and 600-200 = 400
72 —9 =63 so 62— 9 =53 and 52 - 9 =43
Count on: When numbers are close together, you can count on to find
the difference.
+4
ﬂ 11 1 | t | | \_\_}_‘ | | | t | ] | _
20 21 22 23 24 25 26 EQB 30 S@& 34 35 36 37 38 39 40
Bonds: 35 + 65 = 100 so 100 - 35 = 65
12 + 8= 20so0 20 - 8 =12
Near doubles: See:15 - 7 Think: (14 - 7) + 1
\ J
° This hundred grid makes it easier to see subtraction patterns. Use it to complete
the sets.
1{2]3]a|s5|6|7]8]9]10 el 12
11 (12|13 |14 |15|16|17|18|19]20 17|= 9 ||= il21|-f 6 |=
21(22|23|24|25|26|27|28(29]30
27 || 9 |= P31 |- 6 |=
31/32|33|34(35|36|37(38|39/40 .m
41|42 |43|44|45|46|47|48|49|50 37/l1=l 9 ||= M_ﬁjmn
51|52|53|54|55|56|57|58|59]60
61|62|63|6a|65|66|67|68]69]70 475=[ 9 |= Mmplmu
71|72173|74|75|76| 77|78 | 79|80 57-| 9 |= Mmplmu ‘
81/82|83|84|85|86|87|88|89|90
91/92|93|94|95|96|97|98|99|100 67 |-| 9 |= P71 (=1 6 |=

@ Extend these subtractions according to the patterns:

a 9-6-= 80 — 60 = 900 - 600 =
b| 14-8-= 140 — 80 = 1,400 - 800 =
c|24-14 =
d| 69 -32 =

Addition and Subtraction @

Subtraction mental strategies — subtraction strategy review

o Use counting on to complete these:

a 32 -29 =
d 71 — 68 =
g 83 -77 =

b 33 -28 =
e 82-76 =
h 112 - 109 =

° Complete these function tables using counting on:

W n | Rule| Out|
120
123
~118
126
124

o Complete this cross
number puzzle. Using
bonds to 100 will help.

Across
1 100-80=

2 100-89=

3 100- 5= 1

4 100-28= 1

5 100-22= 1

L]

7 100-64=

108

-96

101

34 - 27
73 - 69
201 - 196 =

85

-78

83

! Down
8 100-49= _ 11 100-78=
9 100-61= N 100 — 88=
0 HoolmNuJ '3 100- 2=
1 Hooummn_‘ a 100 - 24=
2 100-75| | is HooLmL
6 100-11=

Addition and Subjreccion
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Subtraction mental strategies — jump strategy

° It’s stocktake time at Candilicious sweet shop. Use the jump
strategy to work out how many of each type of sweet has
been sold.

Started with | Amount left

Cinnamon drops 254 45
Caramel melts 186 58
Milk bottles 145 65
Chocolate buttons 165 34

a Cinnamon drops

_o Caramel Bm:m

c _<__=A Uo.&mm

d Chocolate buttons

Addition and Subftraction
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Written methods — 3-digit addition with regrouping

\
] This is the written method for addition when regrouping.
h_~ e: 730 _ First, estimate the answer to the nearest ten:
) 530+ 200 = 730
‘H T O Addtheones: 4 + 7= 11 ones. “
— Think of this as 1 ten and 1 one.
m w & Write the 1 in the ones column and put the 1 in the tens
ST column.
= Hmw Add the tens: 3+9+ 1 =13 tens.
7 3 1 Write3in the tens column and 1 in the hundreds column.
R : Add the hundreds: 5+ 1 + 1 = 7 hundreds.
L Is our answer reasonable? Yes, because it’s close to our estimate. |

° Practise estimating answers by rounding to the nearest ten. The first one has been
done for you.

_. Question | mmn_.._mnm

Question Estimate

a|682 + 179 | 680 + 180 = 860 b (271 + 119

¢ [359 + 222 d|[378 + 119
e 587 + 398 f [412 + 98
g 189 + 108 h|911 + 207

° Add these 3-digit numbers using the written method. First, estimate to the nearest ten.

e: e: g
T IH:T @ HiT:0 A
a 5 4 b 6 2 8 ¥ 3 e 4
+ 2 1 7 - 2 1 3 i 2 2 8
1 1 : [ . L [

Cuntinued o poge 30,

o rlm f.‘n* 29

SERIES TOPRIL

Addifion and 3t




EILIVY ymaas

_ f
_ __@ @ uoHIDIIGNS PUD UCLIPPY

1€
ieig:- 9:9:9i- 6 v 9 -
£iviL. Yy zigig: 8 z:9 6 y
A O i 0 0 o
(0] Ll H 0: 1 H 0o: 1l H
— 2 z t
3 _ @ | _ﬂ 2
NOFHO
g | = 9ivigi-
T s p
1
0 :
= - 0T 1s9Jeau 3yl
:3 ) 03 Jamsue Inok
_ : ; 3jewysa o3 Jaded
. E deuds jo aa31d
© 95N UED NO
glvivi- -

DR

‘0T 1S24e3U 3} 03 2eWnST "dlewnysa
1noA Sunum Aq Wels ‘poyiaw usnLm ay) Suisn siaquunu H3Ip-g 3s3Y3 3oeagnS e

Buidnoibal ygm uoyonigns HBIp-¢ — spoyisu UL

- o omik s
4 I

UOIINAIYNG RUG UCHIRPY @ 3 | 0g
e = !

;Jayiadoye ulesy syl uo
3.9M sJag8uassed Auew moH
+ 'sd01S 23443 1X3U 33 J2A0
uo 108 ajdoad g/9 t13yloue
; uayl pue pieoq uo 3|doad 8¢

1 i H yL Yyiim uougeis ayr ysjuieny q

S puaya3am 184l p|OS aiam
sunw Auew moH ‘Aepung
4 UO pJOS 943M SULNW YUnyd
|[2weled g6 pue Aepanies uo
: : : p|os atam sunw diys d0yd
Ol H! eueueq 9g¢ ‘doysugynw ey e

:poy3atu UM 3yl Suisn sw[Gosd pLOM 3say) BA|0S maw

B O oo 0l

L mm + 6:gic + 6% :S +
w._._._ ylL Om._.m.I Yyl 0:1:H:4L
, m|_ _|| 3 - 3
=t —E —r

+ 6 = ¢+ 6 € I +

3 .v ¥ € ° 13 9 Z P

O:1:H:yL 0 1l H o .F.I

a | o s T »

:poyall uanm ay3 Suisn siaquinu YSip-€ 3sayl ppy @

‘67 abod wouf panunuo)

Buidnoubas ypm uoyippo HBIp-¢ — SPOYISW USHILIAA



Written methods — 3-digit subtraction with regrouping

o This sign shows the distances
of towns along a highway from
where the sign is. Find the
difference between these places.

Find the
difference
means to

subtract.

b What is the distance between
Roper and Eagle Bay?

a What is the distance between
Ringer and Normanville?

"H:T O ‘HiT! O
" km km

¢ What is the distance between d What is the distance between Roper
Showtown and Ringer? and Normanville?

HiT:oO

km ” km

Addition and Subtraction

Copyright = 3F Learning

Written methods - 4-digit addition

o Add these 4-digit numbers:

i ._.TMIW._-D

a : b ¢ nmmwmb
10 +15 ¢ +i2:1i6i4
‘ThiH!T:O ThiHiT 0 ThiH T O

d ] .wM_H = ; . f wa 2

° Add these 4-digit numbers by regrouping:

qszqo W;m:.wqﬁo .md:w:mf.o

38 b 42

0 Add these 4-digit numbers by regrouping:

ThhH T O ‘ThiH:T:O ‘Th H'T 0

a fziaigie b 3i1i8iy7 c 3i219ls

#i2i1:8]7 +.3.0.5'9 b2 Z 4.5 B

Addition and Subtraction m@_ { .r1‘. 13
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Written methods — two-step word problems

When you are tackling a word problem in maths you need to read it carefully
and ask yourself two key questions:

1 What are the important numbers?
2 What key words help me to understand which operations | need to use?
Sometimes there may be more than one step to the problem. Here’s an example:

Mr Jones is sorting out the PE cupboard. He knows he had 90 tennis balls at the
beginning of term. Y4 have borrowed 35. There are now 52 in the cupboard.
How many balls are missing?

1 Numbers? 90, 35, 52

2 Key words/operations? ‘borrowed’ and ‘missing’ suggest subtraction

Step 1: 90 - 35 = 55 There should be 55 balls in the cupboard.

Step2: 55 - 52 = 3 So 3 balls are missing.

o

o Solve these two-step word problems:

a Jayden has been collecting football cards. He has 120 in his collection. He lends
42 cards to his friends, but is worried that he may have lost some. He counts his
cards and finds he has 74. Has he lost any? If so, how many?

1 Numbers?

2 Key words/
operations?

Step 1: 7

Step 2: 7 7

Answer: 7

Written methods — two-step word problems

b A Year 4 class earns 32 merit points in the first term of the year. In the second
term they earn 47. If they have a total of 130 points by the end of the year, how
many points did they earn in the third term?

1 Numbers? _

2 Key words/
operations?

Step 1:

Step 2:

Answer: “ A.;

¢ Inthe archery competition, our team, Riz and Dennis, scored 125 and 232.
The winning team scored 480. How many less than the winning team did our
team score?

1 Numbers? Read carefully!
What are the
important numbers?

What are the
2 Key words/ 7 key words?
operations? What operations do
4 I need?

Step 1:

Step 2:

Answer:
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Money - finding change

-

When you buy something and you don’t have the exact
combination of notes and coins, you can pay with a larger
amount and get the difference back. This is called change.

If | paid for these flowers with £20, my change would be £8.

° Find the change for each amount below. You could bridge to the next pound and

count on or use a written subtraction. Show all your workings:

-~
a I had £100. | spent £68. b b \l_ had £50. | spent £22. J
Change = Change =
- J/ \ W,
Ij
c \_ had £20. | spent £16.50. L d \_ had £120. | spent £60.
Change = Change =
\_ -/ \_ ¥
\\l|
e I had £100. | spent £75. J f ,\_ had £50. | spent £42. J
Change = Change = _
(S _/ . —/
Subtraction

42

_..\JJ
./ ;
—

Addition and

Copyright

Money — using money

When you plan a party, you usually buy things such as
food, drink and party favours. It's a good idea to set a
budget before you go shopping so that you don’t spend

too much.

° Here is a price list of party items:

_Pantyfavours |

Sausage rolls £3.20 Orange juice £2.75 10 party hats | £3.80
Pizza slices £8.95 Lemonade £3.10 10 balloons £1.90
Burgers £7.65 Cola £3.25 4 game prizes | £5.60

a Which two items of food and drink could | buy for less than £10? Show the change.

b Maxine bought a type of party food.
if her change was £2.35 and she

paid with a £10 note, what did she buy?

¢ Look at the price lists for the party
items at the top of this page.

Add up the total amount on Heidi’s

shopping list.

d Heidi’s budget is £50. Suggest
something to take off the total.

Change =

Heidi’s shopping list:
2 packs of sausage rolls ..
4 packs of pizza slices .....

10 party hats ...

20 balloons.....c.cooviininane

Orange juice ......oooeeeeein. |

Lemonade.....ooveieecereninnne

Addition and Subirastion
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Multiplication facts — 2 and 4 times tables Multiplication facts — 2 and 4 times tables

The 2 and 4 times tables are good facts to learn together. Now for the 4 times table. The 4 times table is just double the 2 times table.
This is handy to remember if you forget a 4 times table fact.

o Complete the skip counting pattern of 2:

o The 2times 1 x
- table should
be easier,s0 2 x 2 =

@ Werite the missing
numbers for these

ﬁ
]l

2 x4 = _ 4 times table facts:
srerresprasesss e e iy n e s g L OOBU_mﬁm m.n :
m : 3x2= 3 x 4= : i
° Answer the 2 times table. One is in order, the o It is useful to be able to first. Then _H_ D m x4=28
other is mixed up. m multiply numbers above Mwﬂﬂ.mnmmn: 4 x 2 = _U NS 4 = j . .
_ : 10 by 2. Try these: g . = | Allin =
1 x 2 = 12x 2 = times table 5x 2 = 5 x 4 = —
I_ : facts to get m |||_ i c x 4 = 40
NanD wxmn_ By 23 the4times 6 x 2 = | 6y 4= | i
— : table facts: — 1 i
3 5 : 7x2= Tix 4 = ; d x4 =24
wxm|_H_ HoxN|_ 14 x 2 = D
) hxwuﬂ_ mxmn_H_ S | 8 x 4= | e x 4 =12
§ 15 2 = = _
mXN“ HXN“ . H@XN” HOXNHD HOX#H_t
11 x 2 = 11 x 4 = B e st
i T P U o
17 x 2 = 12 x 2 = 12 x 4 = _ h x 4 = 28
RO e R e I
9 x 2 =| _ 3 x2 uD 18 x 2 = o Use the hint to get the answer. Then fill in the missing digit to make the 4 times
=i : table fact complete:
10 x 2 n._| 2 x 2 n_ _ : P
; 19 x 2 = —
i 1% 2 = 5 x 2|=] a [ Hint:Double1s | b | Hint:Double12 | ¢ | Hint: Double 18
12 g = 11 x 2]=| _ 20x 2 = x 4 = xa=| | | |xa=

@ Complete these @ Look at the numbers in the grid A 3 |1 4 8 |32
doubling wheels as and circle 3 numbers that would

quickly as you can. P make a multiplication fact. Look B ) : Z / )
Multiplyingby 2 Double b for x 2 and x 4 facts. They are 6|5 |3 |8 |29
is the same as i) iR either left to right or top to | 3 4 6 |24 114 2

doubling. bottom. The first one has been ; :
done for you. There are 10 to find. 2 |8 |16 7 |9 [36
9 | 218|102 |20

Multiplication and Division i _ _,_\\.:/__ _,a,_ Multiplication and Divisian
3 3F Leansing [ — . Coomes 4 2 Le oy
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Multiplication facts — 3 and 6 times tables Multiplication facts — 6 times table

° Match the answers to the questions. Each answer has two matching questions. 4 ]
You know more times tables facts than you

@O@@@ + @ realise. For example, knowing your x 5 can help
4 x 6 16 x 3 3 x 8 3 x 10 8 x 6 with your x 6.
e000®:@

The array shows 3 rews of 5. If we add another _
@@@ @ @ * @ dot to each row we can change 3 rows of 5to 3 7

rows of 6. This is called building up.

L 3x5=15+3 —» 3 x6=18 _

o Change these x 5 arrays into x 6 arrays.

00000 + ®
3 x 4 2 x 3 5 x 6 6 x 2 1 x 6 00@O - @

2x5= + —> 2 X 6 =
o Complete the cross number puzzle: @ @ @ @ @ + @
Across Down b @eee® - )
2.9x3 1.8x6 9@+ ®
3.3x6 4.10 x 6 000 O® - @
6.5x%x6 5.9x%6 _ _
4 x5 = + | —> 4 x6= |
8.7x%x6 6. 6 x6 ] —
7 4x6 s sesmem et e s s e R T R
9. 6x3 o Complete this table to show how to change a x 5 array to a x 6 array by building
10.7 x 3 up. The first one has been done for you.
Numbertoadd |
a
° What number am 1? | am in the 3 times table, 4 times table and 6 times table. . 7imSe=) 35
I’'m not 12.
d 4 x5 =20
lam
L e 6 x5=230
f 9 x5 =45

Multiplication and Division @ \ ) 7 7 3 ' @,_ fi J/_ Multiplication cnd Division
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Multiplication facts — 9 times table

Practise your 9 times table.

° Use this array to complete
the 9 times table:

0000006060 ...
000000000
000000000 '
000000000 --°-
000000000 -
0000000606 ., ..
0000000600
000000060 "
000000O0®® -°-
000POO®®® .-

11 x 9 =

12

X
w0
n

I

° Complete these x 9 facts. Look out for turnarounds.

a 3x9-= b 9x4-=

d 2x9

e 9x5

o Find the cost of these items:

Il

a 6 fruit salads b 4 banana splits =

W
1]

¢ 3 mango juices d 5 fruit salads

e 3 banana splits f 7 mango juices =

c 6x9= _

Multiplication and Division

Capynghi 7 3F Lesrming

Multiplication facts — 9 times table

—
If you get stuck on a 9 times table fact,
you can use the 10 times table facts
and then build down.

3x9=|7

00000000
00000000 OK
000000000

3x10=30-3 —» So, 3 x9 =27

\

If you want to
check whether a
number is in the 9
times table add its
digits together. If
the answer is 9, then
itis! For example, if
you add the digits of
27 together, you get
9(2+7=9),soyou
know that 27 is in

the 9 times table.
e

° Think of the x 10 facts and build down to get the x 9 facts. The first one is done for you.

x 10 table Number to subtract |

1x 10 = 10 1 1 x9=209
2 x 10 =20
3 x 10 =30
4 x 10 = 40
5 x 10 = 50
6 x 10 = 60
7 x 10 =70
8 x 10 = 80
9 x 10 = 90
10 x 10 = 100
11 x 10 = 110
12 x 10 = 120

o Complete the x 9:

S

{| Tt e = |

o= -1

e

Can you see a
pattern in the
numbers in the
9 times table?
As the numbers
get larger the
tens digit goes
up one and the
ones digit goes
down one.

T

12

Multiplication and Division
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Using known facts — factors and multiples

& A
When 2 numbers are multipled together, the answer is called a multiple.
The first 3 multiples of 2 are 2, 4, 6.

1x2=2 2x2=4 3x2=6
5,10, 15, 20, 25, 30, 35, 40, 45, 50 are the first 10 multiples of 5.

. A

o List the first 12 multiples of each number:

a6 6

b2 |2 |

¢ 10 _
|

d 3 4

e 4 7

° Write these numbers in the correct spots on the Venn diagram: | The space inthe
diagram where the

w circles overlap is where
you put numbers that are
both multiples of 2 and 3.

8 4 9 6 12

Multiples Multiples
of 2 of 3

THINK

0 Can you think of any other numbers up to 60 that could go into the overlapping
space in the Venn diagram above?

Multiplication and Division _®J __.@_
T : /{r|\\ .

Using known facts — factors and multiples

\
Factors are numbers that you multiply together to give a multiple.
3x6 =18 2 x9 =18 _
_
These arrays show some of the factors of 18: 3, 6, 2 and 9.
Can you think of any other factors of 18?
\ i

° Complete the number sentence for each set of arrays and then list the factors.

d The factors of 12 are:

0 Complete each diagram to show the factors of the number in the middle circle:

|
16 _ _.@ __~\I./~__ tacttinlicotien and Divisiun
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Mental multiplication strategies — multiplying/dividing
by 0 and 1

-

If you multiply by 0 the answer will always be 0.
5 x 0 means ‘5 lots of 0, which is nothing.

The answer is not going to change, whether you have 5 or 35 or 3,005 lots of
nothing. The answer will always be zero.

Multiplying by 1 is also very simple.
73 x 1 means ‘73 lots of 1’, which is 73.

So if you multiply any number by 1 the answer will always be the number with
which you started.

8 x 1 means ‘8 lots of 1",

Dividing by 1 is straightforward too. If we divide a number, we are working out
how many equal groups can be made from that number. So, 10 + 1 means ‘we
have 10 and we want to make one group with it’. How many will be in that one
group? The answer is 10. So, as with multiplying by 1, you always end up with
your starting number when you divide by 1.

3+1=3 333 + 1 =333 33333 + 1 =33333

{In case you are wondering, you can’t divide by 0. We can’t split, say, a bag of
sweets into groups of nothing — it doesn’t make any sense to divide a number
by zero. It can’t be done. We say that dividing by 0 is undefined.)

o Solve these calculations:

a 6x1 = | i b9:1 = ¢ 11x0 =
d 59x0 = e 73x1 = 3Ix1
: 3:1

) | Ix0
f 43+1 = g 848+1 H_ 3 3 0 = impossible!
h 666 x0 H_ _ i 424 x1 =
j 999+1 = k O0x0 =
| 2344x1 = m74+0 =

Multiplication and Division ﬁ@ @; | 19
. : = /|

Coy:

Mental multiplication strategies — multiplying 3 numbers

-
There is a law in maths called the Commutative Law. This states that for certain
types of calculation, the order of the numbers doesn’t matter. The answer will
be the same. It is true for addition.

3+4=7 4 +3 =7
62 + 19 =71 19 + 62 =71
The same is true for multiplication.
5x2=10 2 x5=10
8 x 7 =56 7 x 8 =56
If you are multiplying more than two numbers, the Commutative Law still applies.
3 x2x6=236 6 x2x3 =236 2 x6x3=36
2x3x6=236 6x3x2=36 3x6x2=36
S Cm b e el
e Solve these multiplications:
a dx4x2-= b 3x10x5 =
- ==
c 7x3x2= _ d 5x8x%x3 =|
o |
e 6x3x2-= _ f 10 x 8 x 10 =
== e -
@ Using the Commutative Law, create two different correct [ Does the Commutative A

Law work for subtraction
and division too?

multiplications using the same numbers:

|
a 13 x23x8=2392 x| x|
.
_x _X
T T r
b 7x 14 x 26 = 2548 x| x

3

Pt
. A P T
7 _ ( h®_ Multiplication and Division
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Mental multiplication strategies — split strategy

\ \
The split strategy is when we multiply numbers in 2 pairs and then add the parts.
Let’s use the split strategy for 26 x 4.

o Split 26 into 20 and 6.

e Multiply each part.

¢ Add the answers together.

26 x4 —p 20x 4 + 6 x4

80 +24 = 104

So, 26 x 4 = 104

\ A

° Use the split strategy to answer these:

a 34 x 3 —> 30 x 3 + 4 x 3

90 + =
So, 34 x 3 =

b 45 x § —» X + X
+ =
So, 45 x 5 =

¢ 52 x4 —» % + x
m - _

| - |
So, 52 x 4 = |

Zc_:v_mnw_:os and Division p\@ @

Y 3P lwarning

Mental multiplication strategies — compensation strategy

1\.|
Use the compensation strategy to make it easier to multiply 2-digit numbers _
that are close to a ten. _

Look at4 x 19.

19 is close to 20, so we can multiply by the next multiple of ten which is 20.
Then we build down because we have an extra group of 4.

4 x 19 — 4 x 20 = 80— 4

So, 19 x 4 = 76
4 =

o Use the compensation strategy to answer these:

So, 5 x 29 = *

a5x29 —» 5 x

b 3 x 49 — 3 x gu r_i

So, 3 x 49 =

c 4x39 —» 4 x = —

We have rounded up
to 20, So instead of

4 x 18 we have 4 x 20.
This is 2 more groups
of 4. So we subtract 8.

o Use the compensation strategy to answer these questions.
This time you need to look for more than one extra group
to subtract:

a 4x18 —» 4 x = 1[

So, 4 x 18

3

cwxGIIwa_ ni |7 7

So, 3 x 17 _

I}

7 Multiplication and Division
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Division — division is sharing and grouping

If you need to find out
how many items there
are in each share, it’s

a sharing question, If
you need to find out the
number of equat shares,
it's a grouping question.

o Draw pictures to show these
division questions. Then write the
division fact and decide whether it
is a sharing or a grouping question.

a Divide 16 lollies between 4 girls. How many does each girl get?

sharing / grouping

b From a packet of 24 pencils, each person will get 6. How many people are
sharing the pencils?

sharing / grouping

o /

' '
c 48 eggs are laid by 6 hens. If they all laid the same amount, how many did

each hen lay?

sharing / grouping

~ )

\. J
e A

=
v
~)

Muitiplication and Division 21
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Division — division is repeated subtraction

P |..
Division can also be thought of as repeated subtraction.

Lookat30 + 5 =| ? sz question is asking how many groups of 5 there are in 30.
Jump in 5s along the number line and then count the jumps.

0 5 10 15 20 25 30
S0,30 + 5 =6

\.

° Show these division facts as repeated subtraction. First label the number lines and
then show the jumps.

a 36+6-= _

0 | .. 36

0 8 16 24 32

Multiplication and Division
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Mental division strategies — dividing by 10 and 100

o
When we divide any number by 10, we move the number one place value 4
space to the right because the number is getting 10 times smaller.

When we divide any
number by 100, we move
the number two place

.qro:mm:n_w... _._::qun_m. Tens | Ones

value spaces to the right 6 7 0 =10
because the number is
getting 100 times smaller. 6 7 +100

\ —

o Use the place value tables to divide these numbers by 10 and 100.

a b Th H T 0]
5 3 0 0 4 1 0 0
+10 +10
+100 +100
; g oo
8 4 0 0 2 4 0 0
+10 +10
+100 +100

o Use patterns to solve these:

_I‘
a 1400 + 1 = _ 1400 + 10 = _ 1400 + 100 =
b 5600 + 1 = 5600 + 10 = 5600 + 100 =
¢ 3500 + 1 = 3500 + 10 = * 3500 + 100 =

b 49 + 10 = |

Use a calculator to 1
€ useacalc a 270 = 100 =

solve these:

Multiplication and Division

(L5

ki

Copyright &, 3 iLearn

Mental division strategies — halving strategy

~
IN ouT
When you halve numbers you are =
dividing them by 2. In this function 8 & RULE: Y 4
machine, numbers go IN, have the rule 12 Halve 6

applied and come OUT again.

| EE [

8 2

o Complete the halving function machines. Halve the number going IN the machine
and write the answer in the OUT column:

a IN ouT b IN ouT
—— -
80 [ RULE: | m 70 | RULE:
j Halve ' ._ Halve '
140 | _ 24
20 “ h 36 B B
: VW
c IN ouT d IN o out
42 RULE: 18 RULE: .
ﬁ Halve U ﬁ Halve @
90 50
60 hp B -~ | 100 E H

o Below is a halving-halving function machine. The number goes IN and is halved
and then halved again and comes OUT.

IN ouT
100 RULE: |
= e
a Halve m
36
60 E B E B
a4 s F— 4

_ A 3 N “ . .-
36 ; ﬁ@ @ Multiplication and Division
: = Copyreht 4 2F Lptwm
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Mental division strategies — word problem

¢ b

_r Review your division strategies.

o Use either the halving strategy or the split strategy to complete the tables. The first
one has been done for you.

a | Use the split strategy: b | Use the halving strategy:
&+wn_um_ 64 + 4 =
48 530 + 18
30-:3=10and'18 =3 =6
10+ 6 =16

¢ | Use the split strategy: d | Use the halving strategy:
312 + 3 = 140 = 4 =

o Solve this riddle by matching the letter to the answer. Use a mental division
strategy for each problem.

What is it that the more you take, the more you leave behind?

68 + 4 = S 90 + 6 = P |
135 + 5 = e 1200 + 10 = f
240 + 4 = o 128 + 4 = t

120 60 60 32 17 32 27 15 17

Multiplication ond Division \I@/d F®
../..I\.\ h—

Copyright 2 3T Leeining

Mental division strategies — word problem

_\
Remember the steps and questions to ask yourself when you are trying to solve
a word problem.

Four friends have a party. They share out all the food equally. There are 164
blueberries in total. How many do they get each?

Important numbers: 4 friends 164 blueberries
Key words/operations: ‘share’ = multiplication 164 + 4
Strategy: halving _
164 + 2 = 82 _

82 +2=41 "
- G R e ———

0 Tom, Milo and Xav have been trick and treating. They agree
to share their sweets out equally between them. They have

33 sweets in total. How many do they get each?

1 - ™
Read carefully!
What are the
important
numbers?

What are the
key words?

o Lillies are sold in bunches of 7. A florist has
. What operati
42 lillies. How many bunches can she make? i _mzwmﬂh .

What is the best
strategy?

0 Multiplication ¢nd Divi
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Written methods — short multiplication

° Solve these multiplications:

a iThiHiT:ioO b

3

d e f iThiHiT:O
6:i7:8
X x 5 b B 9
OO g OO 0 O O
o Use short multiplication to solve these word problems:

a On afarm, 6 lambs were born b For my school fete day, | baked
every day over 25 days. How 9 trays of cupcakes. If there are
many lambs were born in total? 14 cupcakes on each tray, how

many did | bake in total?
H:T:O H:T: O
X X
&4 N M1 G
Multiplication and Division _.,\J.J,_ _..\J/.. ; a3
Capyright w37 Learing ....,..r-.\\. N |

Written methods — short division

-~
Another way to represent division is with the division symbol.

T O
Thisisthe sameas 36 + 6 = 6

If the answer is a single digit, it should go in the

_ ones column.
\. i

a 5 c 9
d 6 f 4
g 5 i 8

@ Use the division symbol to solve each problem:

a 42 cupcakes were iced by 7 kids. if they each iced the same
amount, how many did they ice each?

b How many pots were used if 6 seeds were planted in each —

pot from a packet of 54? 7

¢ | run the same distance each day. Over 9 days the total . —
distance is 72 km. How far did | run each day?

Multiplication and Division
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Statistics — asking questions and collecting data

J,
Data is information. We collect data to help us find out about the world. Data

can be in the form of numbers, words or pictures. We organise and record data
so that we can look at it easily and learn more.

o The type of question you ask guides the data results, so it’s important to ask the
right questions. Imagine that you are planning a birthday party and your mum
says that you can serve either hot dogs or pizza. You decide to survey your guests
before the party. Which question will get you the data that you need? Underline it.

What is your favourite food? Do you prefer hot dogs or pizza?

o For their end of season celebration, Adele’s netball coach has said that the team
can either go to the water slide park or go to the movies. Adele has to email
her team mates to find out the most popular choice. She is about to email this
question, “What would you like to do for our end of season party?’

a What is wrong with asking this question?

b Write a better question for her to ask:

@ Here are three kids who are about the same age as you. Look at their answers.
What questions were asked to get this data?

Question.
a spaghetti | hamburgers | chocolate
b blue pink vellow
C March November January

Statistics @ __.\I./ _ 1
——

& 3P Learning A

&

Statistics — asking questions and collecting data

° Did you know that most peoples’ eyes are either blue, brown or green?
In this table, 48 collected data on the different coloured eyes in their class.

How many pairs of each eye colour are in 4B?

Blue 6

&
Brown © 15
Green @ 4

What are some other questions that you can answer with this data? Think of two:

1.

@ Now collect data on the different coloured eyes in your class and compare the data to 4B.

a Write a question above the data table as the heading.

Blue @
Brown @
Green @

b What is one statement you can make about the two data sets?

, * __\@./_ ,Q_ Statistics
...,.I\\__ - Loy
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Statistics — bar charts Statistics — pictograms

@ Jo from Jo-Jo’s Cafe recorded the desserts that customers ordered over the weekend. . 5 . .
Pictograms use pictures to show how many items are in each category. The

a Show the total of each dessert that was ordered in this table: have a title that tells us the data that has been collected. A key tells us the
: value of the symbol. In the first pictogram below, we can see that one whole
Dessert | : Rl | cupcake stands for 2 actual cupcakes. Half a cupcake stands for 1.

Raspberry ripple \_‘_\_\_\ \_+_‘_‘\_+_\_\ - — == =
Lemon pie This pictogram shows the amount of cupcakes sold in each flavour:
p M W A

Banana split \_._\_‘_\ \_‘_\_\_‘ Cupcakes sold in a day Key: A\m:ﬂ\ =2 cupcakes
- a How many lemon
el ‘_‘_._\_‘ \_‘_\_‘_\ \_|_+_\ __ Strawberry @ @ m cupcakes weresold? L |

Sopilagnch ‘_._‘_._\\_._‘_._‘\_‘_‘_._\\_\_‘_‘_\\_‘_‘_‘_\\_\_‘_._\ ol @@ @@ﬁ b How many choc-chip

cupcakes were sold?

b Show this data on the bar chart below. Complete the scale and all the labels. Vanilla
Give the graph a heading. ) o ranieTe
Choc-chip
sold altogether?
7 ﬁ@ﬁ@@ﬁu\ Bﬁﬁﬁ@ 7 0 This pictogram shows the number of tickets sold each day in the week leading up
to the Friday night school concert. Answer the questions that follow:
lLemovpie
_ P \_ Tickets sold Key: [raerZ] = 10 tickets
| | Monday |[mEE] [ [mard] [naw] (wimz] (rewE] [mes] (e ]
Q ~ = =
_ ; Tuesday | o J~ noter =1 [ nawer =T | o 21
_ \; _ Wednesday (e =] o =] | naer =T e 2] [ noer =7 § o 2]
i |
T = Thursday
AR EEEEE RN _
Number of desserty a How many tickets were sold on Monday night? * .
¢ The most popular dessert was . b How many fewer tickets were sold on Tuesday | ]

night compared to Wednesday night? L |
d Cookie crunch was twice as popular as

e Jo wants to remove a dessert from the menu. Which one should she remove ¢ 65 tickets were sold Thursday night, add this to the graph.

and why?

Statistics ._@_ ﬁ@ w 5 6
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Statistics — Venn diagrams Statistics — Venn diagrams

. . i Place these numbers in the Venn diagram:
A Venn diagram also shows lots of information in a small space. o E

This Venn diagram shows what 4S eat at playtime. 5 16 30 4 40 8 10 15 20

Muesli bars

6 3

2 times table 5 times table

This shows us that:

e 15 kids just eat fruit

e 6 kids just eat muesli bars

e 4 kids eat both fruit and muesli bars
e 3 kids eat neither fruit or muesli bars
¢ there are 28 kids in 4S.

° Show where these numbers go in the Venn diagram by listing them next to the
matching symbol:

\

16 2 20 8 3 12 10 4 40 6 24 il
0 Use the clues listed to complete the Venn diagram:

Even numbers Factors of 24

Little athletics

> (

30 kids were surveyed about which after-school activity they would prefer,
gymnastics or little athletics.

¢ 10 kids want to do both @ d
e 5 kids don’t want to do either sport

o 8 kids want to do gymnastics.

We haven’t said how many just wanted to do little athletics but you can work it out _r.
from the clues. .




Buiiingl ge ¢ jubiiiden

SIUSYDIS
9¢ ueyj
191e243 10N
9¢ ueyy
191319
9 Aq 9|qIsInp 10N 9 Ag 3|qisiAIg
¢ 05 <¢¢ 6C 09 ¢ ST VS oy q
0s ueyy
ST RN
0S ueyl ssa
¥ Jo ajdijnw JoN 30 ajduiniy
I8 9. 09 €¢ 08 9€ SC 8¢ 00T €9 e

:mojaq sweadelp ay3 ut elep ayj Uos °

SWRIBBIP ||0LIDD — SOISIHDIS

\W\W\\_\g NWONY 2]

"SEUBUE(Q 10 S3LILIIGMELLS J3ylIau 3yl 21doad g e
‘S314I3gMEIIS 10U 1NQ SEURURQ 2)|l] 9)doad 8T e
‘Seueueq pue saulagmells yiog i ajdoad 9z e
‘SeUBUR( 10U ING SalUagmeds a1 ojdoad GT e

"NOA 104 paj|age| s UWN|O3 3UQ *SMOJ B3}
PUE sUWN|ed 2y3 [3qe] 01 P23uU ||IM NoA ‘Mojaq wesSelp ||oJJe3 343 Uf EIEP SIY] 10S

sied wagdpop
uo 08 1ou pig

sied> wadpop
Uo JUSM

doup e3sw uo Jusp

doup e3aw uo 03 J0U pIg

“Uet9 siy ym awoy Aels 03 pey ay 0s }21S Sem uag e

"'Swaspop ay3

pue doJp e3aw ay3l yioq uo Jay yiim o8 01 d3g puaL} Jay Aq papensiad sem yse] e
'51e2 WIa3pop ay1 pano| Ing doup eSaw 3y} uo 05 03 J0YS 001 SEM A3|JeH

Jayjolq J4ay

UM apld Jed wadpop ayy paJteys pue dolp e3oW 3y} UC 1SIPNO| 3y} PaWRIIS A[I] e
'sied wadpop 2yl uo 08 jJou pip 1ng 331M1 doIp BE3W Y UO JUBM SN e

:mojaq wedselp

9y} ul uonewojul siyy asiuediQ "pue weasq 03 ABpIjoYy U0 JUIM S3L|IWe) OM] 0

>

O O

S3pIs ¢ aAeY 10U S30(]

\J

= []

SapIs ¢ seH

[EOLIIBWWAS 10U S|

(eI WWIAS §)

‘sadeys 1noge uonew.oul SasIUedIo 18yl weldelp ||011ed SIyl 18 3007
"90eds ||BLWS B Ul UOLBULIOJUT JO 10| B MOYS UBD WeJSeIp ||01ed v

SWIDIBDIP [|O4IDD — SOUSUPIS



Statistics — surveys

0 A group of your friends are keen to start training for the sports carnival at lunch
times. You would like to start a club where you can share healthy eating plans
and training tips. If you get enough interest, Mr Gain has said he will let you have
the assembly hall on Wednesdays. However, he wants you to show him carefully
presented data such as how many kids are interested and what grade they are in.

Use a software program to prepare a survey and present your results.

a Design a question.

Question

b Collect the data.

¢ Present your findings in a bar chart.

Statistics —~ time graphs

A time graph is a way of showing how something changes as time passes.
This time graph shows how far a car has driven on a long journey.

Car Journey
3 _ |
T | = rd
300 _
Distance 200 ! £
(miles) \._\ |
— )
| ./ |
100 - 7
L/ 1L
_ . _
@ 2 4 6 8 10

Time (hours)

Time graphs can be used to ask and answer quesions. For example, if you want
to know how far the car has travelled after 2 hours, find ‘2’ on the ‘Time’ axis,
follow its grid line upwards unil you reach the graph line, then follow the grid
line let to the ‘Distance’ axis and read off the number. This tells you that in

2 hours the car has travelled 200 miles.

| It works the other way round too. If you want to know how long it took the car
| to drive 300 miles, ind ‘300’ on the ‘Distance’ axis, follow the grid line right to
the graph line, then follow the grid line down to the ‘Time’ axis. The car took
6 hours to drive 300 miles.

@ Answer these quesions about the time graph above:

a How far did the car travel after 4 hours? ﬁ

b How many hours did it take the car to drive 150 miles?

¢ How far did the car travel ater 7 hours?

[=B

If the car kept going at the same speed and without
stopping, how far will it have travelled in 10 hours? I
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Telling time — five minute intervals to the hour

~—

When the minute hand has passed
30 instead of saying the number of
minutes after the hour, you can say
the number of minutes before the

next hour.

0

° Label the clocks:

minutes to minutes to minutes to

ﬁ 15 past 4

20to 3

| S—

10to 4

N

Spast7

15t09

15 past 6

T % % 0 N N Ty

L

minutesto

Time

Capyrig ing

SERIES TOPIC

Telling time — to the nearest minute

-

Each small division on a clock represents 1 minute.

As with telling the time to the nearest 5 minutes,
we say ‘minutes past’ the last hour for times up to
30 minutes after the hour, and ‘minutes’ to the next
hour for the 30 minutes coming up to the next hour.

This clock shows ‘16 minutes to 6.

5

o Write the time shown on the clock face to the nearest minute.

N s 3

o Sy

27 minutes past 2

14 minutes past 9 6 minutes to 12

Time

Copynain ¢ 5P Lew
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Measuring time — 24-hour time

g &

Time can be measured using 12-hour time, using am/pm,
or 24-hour time.
3:00 pm =15:00

When writing digital time, a zero is sometimes placed
before single-digit hours, so, for example, both 07:00 and
7:00 are correct. When showing 24-hour time a colon (:)
is usually put between the hours and minutes (eg 14:00),
though you may sometimes see it without (eg 1400).

o Complete the table with the correct analogue, digital and 24-hour times.

08:35 18:15 4

20:00 21:04

Time

Cuopyright @ 3P Loarning

SERIES TOPIC

Measuring time — 24-hour time

o Convert these 24-hour times to digital times:

a 04:00 =

c 13:30

e 09:20

4.:00 oy

o Convert these digi

a 9am

¢ 7:30am

e 5:35am

b 15:00

d 16:05=

f 08:25

tal times into 24-hour time:

b 10 pm

d 2:15pm= _

-
~
]
(]

©
3

il

e It is 17:00 and your favourite TV show is due to start i
half an hour. Show the starting time in digital form:

DVD recorders use 24-hour time to record programs.

o Minh wants to record some programs on her DVD.

n

Enter the start and finish times of each program in 24-hour time.
How long is each show?

Channel 4 Program Start Finish |rm.._...n,m_._ |
EVRGI] SGIEnTG=E o Science Show 09:00 10:00 1 hour
10:00 am | Behind the News
11:00 am | Weather Report Behind the News
12:00 pm | Midday News T
1:30 pm | My Name is Greg Movie: Solaris
2:30 pm | Movie: Solaris |
4:00 pm | 4 pm News dpmiEws
:00 rtli
Ul | Smartine Smartline
6:00 pm | Current Affairs
8:00 pm | Movie: Chinatown | | Movie:
9:45 pm | Late News Chinatown
Time
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Measuring time — time facts

It is important to learn these time facts:

° How many days are there in:

a 2weeks= days b 1leapyear= days ¢ 48 hours = days

° Calculate the number of hours in:

a 120 minutes = hours b 2days = hours
¢ 180 minutes = hours d 1week= hours
0 Write these minutes as hours and minutes:
a 120 minutes= hours minutes b 150 minutes = hours minutes
¢ 200 minutes = hours minutes d 85minutes = hours minutes

° Use what you know about time refationships to complete this cross number puzzie:

Across 1 2 3 Down

1 Daysin aleap year . 2 Seconds in 1 minute
5 Weeksinayear i 3 Minutes in 1 hour

7 Hoursin 10 days LI L 4 and 40 minutes

8 Hours SWQN,\ B 4 Minutes m:W:o:_‘
10 Minutes in W hour g 0 o 6 Daysin 3 weeks

12 Hours in 2 days = - 9 Daysina *omﬁ:mm:ﬁ
13 Minutes in 1 hour 11 Minutes in 5 hour

| A\ :
JLEX2) i
......,IL\.\ ..,...l.\..\

Copyright #%: 3P Learning
SERIES  TOPIC

' ™

(60seconds = 2 minute ) (s2weeks = 1year = )
(60 minutes = 1hour ) (12 months = 1year |
(2ehours = 1day ) (365days = 1year ]
( 7days=1week | (_ 366 days = 1leapyear
ﬁ 14 days = :onum.m.:ﬂu
\. .

Measuring time — time trials

\I —
Elapsed time is how much time has passed between 2 different times. To work
out the difference between 2 times, count the hours and then the minutes.

1:55 pm to 6:10 pm
<2 ™ vk}

| V 1 1%
0 r/\ 2 10 2 1:55 to 5:55
D 3 9 3

5:55t0 6:10 = 15 minutes

4 hours

Total elapsed time is 4 hours and 15 minutes.
o i

o Practise counting on:
a in5minutes  2:45 2:55 3:00 _ _ *

b in10minutes 5:19 5:29 5:49 |

¢ in15minutes 9:40 9:55 | 7

o Show the new times on the clocks:

1 hour
a 20 and 20
minutes / minutes
jater | later
R

Elapsed time:

Time @ Nh.ﬁu 13

Copynight 3P Loarming - -
SERIES TOPIC
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